(1) UNIT TO CONSIST OF:

. (1) THUMB LATCH ASM

- (1) STRIKE BAR ASM.

- (1) KEEPER BASE ~— 193 —+]

- (1) MOUNTING HARDWARE KIT -
(POLYBAGGED) I

(1) 5/16 x 1-3/4" HEX HD LAG SCREW
(1) 5/16-18 x 1-1/4" HEX HD SCREW
(1) 5/16-18 HEX HD NUT i

(1) 5/16 WASHER
(2) #12 x 1-1/2" PHILIPS PAN HD SCREW !
(4) #10 x 1" COMBO ROUND HD SCREW . ]

Jl

(1) THUMB LATCH ASM.

UL

PR

(1) 5/16-18 x 1-3/4" HEX HD LAG SCREW
MAT'L: ZINC PLATED STEEL

FINISH: POWERCOAT

; (1) 5/16 WASHER .08 THK
@)# 7%\7ng%%opff%0 S’?@gf REW MAT'L: ZINC PLATED STEEL

FINISH: POWERCOAT FINISH: POWERCOAT

\\\\\\\\\\\\l\\\\\\\\\\\?

(1) 5/16-18 x 1-1/4" HEX HD SCREW
MAT'L: ZINC PLATED STEEL
FINISH: POWERCOAT

L\

)
©)

10.

75

4/ (1) 5/16-18 HEX HD NUT
@ #72,1,,’2 7TZ/ Z,Zg/ f:/f ;\ST?ENS"TIQESLCR EW MAT'L: ZINC PLATED STEEL
EINISE POWERCOAT FINISH: POWERCOAT

REVISIONS
ECR/DCR REV. DESCRIPTION DATE  APPD

INITIAL RELEASE 03-29-11

1.72
| L
~————3.03 ~— 1.25 —=
(1) KEEPER BRACKET
e )

- 353 ——

7.72

DIMENSIONS ARE IN INCHES
FRASIONALE 116 NATIONWIDE
NGULAR: MACH+1°BEND 1°
?ng:’LiCé\ADAE%IMAL +0.01 INDUSTRIES
THREE PLACE DECIMAL +0.005 .
PROPRIETARY AND CONFIDENTIAL ORNAMENTAL 7" THUMB
THE INFORMATION CONTAINED IN THIS LATCH ASM.
DRAWING IS THE SOLE PROPERTY OF OUTLINE & DIMENSIONS

NATIONWIDE INDUSTRIES. ANY
REPRODUCTION IN PART OR AS A WHOLE | SZE pwa.

REV.
WITHOUT THE WRITTEN PERMISSION OF B Mo CS--NW38306A -

NATIONWIDE INDUSTRIES IS PROHIBITED.  'scaleae | weigHr: LB, SHEHERTFII OF |



	Sheet 1
	Drawing View55
	Drawing View56
	Drawing View57
	Drawing View59
	Drawing View60
	Drawing View61
	Drawing View62
	Drawing View63
	Drawing View65
	Drawing View66
	Drawing View67
	Drawing View68
	Drawing View69
	Drawing View70
	Drawing View72


